the A Al o] g Lr} ZuhA] G AFRH2?

6x—2y+8=0
@ Zﬂl/‘]"E"g @ ;(1]2/\]__5_%
® 7‘1]3/\]'—5"15 @ 1{]4/\}7‘1:_1_\—5

® A2 AHEHI} A4 AHEHA



2.

the Y] M0 2 Sauel 5o Hol2 1atolal,

x=4, x=-4,y=3, y=-3

5 S
3%




o &

A2

D1

I ==

ax+y=3
x—2by=-1

@ 2

2 g

!

Al
A

o] aejzol|t} a+ b 9

® 3

@ 4

® 5

yﬂ




BH QoA F Ay =2x-1, y = ax—- 49 2] w7}
b)E W, a 2} b ] F ab 2] & F5tofet.



£ A x+3=0, 2-4=09 DELS AL, 2x—y+3 =0 °]
Bas 24 0] WA o] y BHe?

@ 2 @ 6 ®7 @ 8 ® 9



Al AR y = 5x-23, y = ~3x+ 17,y = ax + b7} T A A gk
@, 5a+ b ©] 3HS Fotolat.

D S
=%



=2x+3
D y
y=2x-3
=-2x-3
©) y
y=2x-3
2x+3+y=0
® y

=3x+5
o) y

y=2x+5

=4x+7
@ y

dx-y+7=0



o) 7t A5t e W, @ o] 7HS To}



° HEw

AAE4 y = ax ©) AL} T A A(L 3), B(4, 1) & O]
g o), o o] te] W

R

YA
A
B
0] T
1 1
®§SGS2 @ZSGS?) ®1<Cl<2
@ l<a<4 ® 2<a<4



10.

o, a +m 9] & F5to=t

D R
=%



11, (-2 —k) 7F QAP 7ot 2y — 8.9 T 9o W o), A4 k
o] gre?

3
©-; @-5 O

N | ot
|
NCREEN|
N ©



12.
ohg 29 QAP Lt y-1=09]
gz oltt, g 9 gHe? ¢

@ 3
@ 12

A
BAT ¢

@ 6
® 15

4

® 9




13.

ol

A3t
=
o

I

o 4

A

ax+y+b =09 1=

of A4 m 3t WS, A4 03t 1%

d

}\:Il_

A}, oju, ab o] k& F5tedEt,




By



15.

Da=1

@ a=3

® a=5



16. o= HAdez SRl F2of dolrh 48 4w, = k of 27

x=k,x=-k, y=2, y=-6




17.

ax+by+c=0 _
g SR ESs - A
ax+by+c =0

Hip 22 o, o] A sie?

O x=2y=4 @ x=4,y=-2
@ x=-2y=-4 @ x=2 y=-4

® x=-4,y=2

Ry



_.
.

Ul



HER
2) o,

=-3x+13y=2x+aq 2 IHZ W HE7}
o) g2 Fetolal



20. F AR}y =(2a+9)x+ 7 y=ax-59 1HZY 7} gl&
o], a 9] Ft-& F5tofzt

D S
=%



21. 2x-3y+6 =09 T =t x5 W yFHor SEMSI =g 2] HWol=?

® -2 @ -3 ® 2 @ 3 @0



2 _ _
22. g T 2ol Ay = —2x+6 0] x &, y FT WL A

filo

ZHZF A, B, @8 0t & off, A4 y = ax 7} ABOA 9] Ho|=

OISR S SHE A 30 9 L TFfoler.

o

Yy

B y=ax

0 N

y=—%x+6




23.

@ -1 3 0

yl

)

Sy



™
ol

mﬂ
~
Hp
My

ax—-3y+5=1
-2x+5y-b=5
todet.

S

1744

A

)

e 1

24.

th 2a+b 9 FHE

3
-1 O\f




25. xZTA Ay —ar+4, x =2, x = 6 02 SR A2} e)
o1z} s & ), A4 a of ishe] da o] 2L

© 4 @ -2 ® 2 @ 4 ® 6



